
horesepower
p < 0.001

1

≤ 110 > 110

horesepower
p < 0.001

2

≤ 61 > 61

Node 3 (n = 9)

10
15
20
25

weight
p = 0.001

4

≤ 2830 > 2830

horesepower
p < 0.001

5

≤ 72 > 72

Node 6 (n = 33)

10
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Node 7 (n = 72)

10
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horesepower
p = 0.008

8

≤ 90 > 90

Node 9 (n = 20)

10
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25

weight
p = 0.004

10

≤ 3425> 3425

Node 11 (n = 20)

10
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Node 12 (n = 10)

10
15
20
25

horesepower
p < 0.001

13

≤ 158 > 158

Node 14 (n = 49)

10
15
20
25

enginedisplacement
p = 0.012

15

≤ 360 > 360

Node 16 (n = 13)

10
15
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25

Node 17 (n = 14)

10
15
20
25


